Oakland (37.80, —122.25) : 10in50 : 1Hz

10 ]
———— i
s o—— i
e S o
= _ _ i
— S i
o 10 " S Al
2 10% in 50 yrs AFE S
® | N §
yo] i N\
8 i Q;
&) -4 \
x 10 o \ N
LLl 11 \
S i \\
\)
> M1 \
8 i \
(D) -6 ]! \ \
g 10~ + i W\
) i \\
= it
g o \
c 3 i \
é 10 I~ 1 \
i '
i
i
— UCERF3 ol
10" —— UCERF2 [UC3/UC2 = 0.81] i
——— NSHMP CA [UC3/NSHMP = 0.80] !
1 1 1 1 1 1 1 I 1 1 1 1 1 1 1 1 I 1 I II 1 I
1077 10" 10°
Ground Motion (g)
Logic Tree GM Distr. Logic Tree Tornado
0.2 : : : : : : : : :
[ [ I
" | | o | ELLB | | HeB 08
% 0.15¢} : : % ABM GEOL
é’ ‘ ‘ Z | M5+65 M5+ 7.9
\ \ [
- 01 | | O | TAPERED UNIFORM
3]
= | | '; FM 3.1 [ FM 3.2
= \ \ O |
S 0.05f | | S | ussEls U2 SEIS
7p] \ \ -l -
| | Mmax=7.6 [:I Mmax=7.9
ol | L | L L L L L L L
0.3 0.35 0.4 0.45 0.5 0.34 0.35 0.36 0.37 0.38 0.39

Ground Moation (g)

Ground Motion (g)




